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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
e 4ard oFF ehpTes Bex fial
{a) Define null hypothesis.
e aoa swe |

{b) 95% confidence interval for population

mean (u) for large sample test is
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(Choose the correct option)
(3% Ceaeh! IR Glsd)

Write any one basic assumption of
ANOVA.

ANOVAS Rzt @by enaifies efeuse &t
Level of significance is denpted by :
sieret w1 Heest frat =8
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(e)
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(iii) B
(iv) None of the above (82%] YbI® 72T)
(Choose the correct option)

(9% Cesh R Clsar)

In one way classified data, sum of

squares due to error (SSE) is obtained
as :

GF (AT Reifers w2 m@aﬂmﬂwa@ﬁ?
Tfeedl 27 3

(i) SSE = SSR-SSC
(i) SSE = Total SS - Treatment SS
i) SSE = SSC - SSR

(iv) None of the above (S7¥9 (FIANDIE
w2H)

(Choose the correct option)

(s% CeICh! IR Glevear)

For a ‘sign’ test, if two scores are tied,
then we discard them.
(State True or False)

B A RIS FECS 7 761 TR G 2T,
(ST MO FW Iw fad |
(8% 7 oaF f&74))
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(g) In ANOVA test, following test statistic
is used :

ANOVA #Srrs Fmfifde #Sml afomfe
RS 71 =T ¢

(i) Z test

(i) F test

(iii) t-test

(iv) None of the above (\¢?R9 IO

+23)
(Choose the correct answer)
(o5 CeFer AR TR
Answer the following questions : 2%x4=8

oY AAITA] Ued T ¢

{a) Write one diference between simple and
composite hypothesis.

I O G AES [ 57 N |
(b) Explain the term ‘standard error’.

T B’ = o P ]|

(c) Define treatment and experimental
error in design of experiment.

AT SETEAIS TABR S 21K FoI RS
A
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(d) What do you mean by ‘Yates's
correction’?

ST e I B g

Answer any three questions from the
following : 5x3=15

oo iz fofabt 2" Teg ol ¢

(a) Write the basic principles of design of
experiment.

Aol SITSTERIR (ERs Tifea2d [ feri |

(b) A random sample of 500 apples was
taken from a large consignment and
60 were found to be bad. Obtain the
(i) 95% and (i) 99% confidence limits
for the percentage of bad apples in the

consignment.

I <5t 2R AN SA& @R 5000 SNeAe
iz dfnie 600! Bt @l Ga e, TREe
(ol G SCAETR (i) 95% O (i) 99% R
T Fefr =1t

(c) Write five advantages of non-parametric
methods over parametric methods.

 SY5eRS AT TS SRS Fwed A5
HRat v
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(d) Discuss in detail how Chi-square
statistic is used in testing goodness of
fit.

22 2fSfET qIEl (S TEw (HIS! SIS
TR AR 3 =9

(e) Construct an ANOVA table of an
experiment involving six treatments in
four randomised blocks using the
following data :

TR SUPTE TIRT I BIRGI o 48T

, B61 BB AP 2[IFET @49 ANOVA Sifersi
oS 9 2

SST = 901.19

SSB = 219.43

Total SS = 1350.25

4. Answer either (a) or (b) : 10
(a) T2 (b) T TEF 4l 2

(a) Discuss in detail the analysis of
variance of one way classified data.

GIET Tow w9 gueas [ @it
SN 9 |
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(b)

Describe the procedure in median test
when there are two independent
samples. What non-parametric test

would you use when the two samples .

are related ?

w51 o aifersfa Tumt o w2 39w
41 | Tfcg 2wl B! F=ifF 27, cora ofi &
SAGETIE A T2 R

Answer either (a) or (b) : 10
(@) S9! (b) T e v 8

(a) What is a randomised block design?

Write its advantages and disadvantages.
2+4+4=10

i e TSl R 2 TR R o orgke
T B |

(b) (i) For a 2x2 contingency table S

G 2x2 TR ST A

a|b

e 1d
Show that ((HYedl ()
2 N(ad - be)

Z “a+b)c+d)b+rd)a+c)

where, (¥%) N=a+b+c+d
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(ii) Write any five applicétions of 2

distribution. 5
2 ANR [RIcIc #5051 elTaiel Sred T4 |
6. Answer either (a) or (b) : : 10

(a) B (b) T T&1 7l 3

(a) Derive Wilcoxon two sample test.

75! &lf$w(T AT Wilcoxon #ISTRITH 31 11 |
(b) Write short notes on : 5+5=10

53 (O forall ¢

) CRD

(i) Principal steps in testing a
statistical hypothesis.

ARSI 2581 AP 4T AR |
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